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QUESTION 1 
Which two components are delivered by a load-balanced vRealize Automation virtual appliance? 
(Choose two.) 
 

A. Proxy Agent 

B. DEM Worker 

C. Identity Manager 

D. vRealize Orchestrator 

 
Correct Answer: CD 
 
 
QUESTION 2 
What is the correct method for adjusting an existing approval policy that is assigned? 
 

A. Edit the existing policy and update the policy version number. 

B. Copy the policy, edit the copy, and assign the new copy of the policy. 

C. Create a new policy, delete the old policy, then assign the new policy. 

D. Export the policy, edit in an XML editor, and import the policy. 

 
Correct Answer: B 
 
 
QUESTION 3 
Which vCloud Air authorization level is required to add vCloud Air as an Endpoint in vRealize 
Automation? 
 

A. VPC User 

B. End User Role 

C. Read-only Administrator 

D. Virtual Infrastructure Administrator 

 
Correct Answer: D 
 
 
QUESTION 4 
Which two IIS authentication settings must be enabled on the vRealize Automation IaaS web 
server? (Choose two.) 
 

A. Negotiate Provider 

B. Windows Authentication Kernel Mode 

C. Windows Authentication Extended Protection 

D. Anonymous Authentication 

 
Correct Answer: AB 
 
 
QUESTION 5 
What are two prerequisites when integrating vRealize Automation with NSX? (Choose two.) 
 

A. A vCloud Air endpoint has been created. 

B. A vRealize Orchestrator endpoint has been created. 

C. A vSphere endpoint with network and security has been created. 
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D. An NSX endpoint has been created. 

 
Correct Answer: CD 
 
 
QUESTION 6 
Entitlements are specific to which vRealize Automation containers? 
 

A. Fabric Groups 

B. Business Groups 

C. Endpoints 

D. Tenants 

 
Correct Answer: B 
 
 
QUESTION 7 
What is one reason snapshots would NOT be available in the Clone from snapshot window when 
using the Linked Clone build Action? 
 

A. The source virtual machine should be a virtual machine template. 

B. The source virtual machine has multiple snapshots. 

C. Data collection must be run for the vSphere Endpoint to retrieve the snapshot information. 

D. Data collection must be run for the Compute Resource to retrieve the snapshot information. 

 
Correct Answer: B 
 
 
QUESTION 8 
Where are vRealize Automation property dictionary items defined? 
 

A. TheCustom Propertytab 

B. TheDesigntab 

C. TheInfrastructuretab 

D. TheAdministrationtab 

 
Correct Answer: C 
 
 
QUESTION 9 
A user receives a submission page with a red exclamation when attempting to submit a request. 
Which option best explains this behavior? 
 

A. The approver has NOT approved the request. 

B. The user exceeded the allowable resources for that request. 

C. Actions have NOT been assigned to that item. 

D. The user is NOT entitled to that resource. 

 
Correct Answer: B 
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QUESTION 10 
Which option would explain why an error message is displayed when the vRealize Automation 
Software architect attempts to add the Load Init Data software component? 
 

 
 

A. The software component has syntax errors. 

B. The software componentis NOT published. 

C. The software component's container is NOT properly defined. 

D. The software component action has an incorrect script type. 

 
Correct Answer: C 
 
 
QUESTION 11 
What specific action must an administrator take before deleting an approval policy? 
 

A. Deprecate the policy 

B. Unpublish the policy 

C. Deactivate the policy 

D. Decomission the policy 

 
Correct Answer: C 
 
 
QUESTION 12 
A user is able to remove virtual machines from their Items tab but the user is unable to remove an 
entire deployment. What would explain this behavior? 
 

A. The user has had theirentitlement to the deployment removed. 

B. The user is missing theDestroy Deploymentaction on their entitlement. 

C. The lease to the deployment has expired. 

D. The user is missing theDestroy Deploymentaction on their service. 

 
Correct Answer: B 
 
 
 

http://www.ensurepass.com/2v0-731.html

